		ITE	MS		J.H. Reid Gen	eral Contractor	South S	State, Inc.		B. Anthony Const	Carbro Const	ructors Corp	IEW Construc
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE
1	1D01LAY	1	L.S.	Construction Layout	\$200,000.00	\$200,000.00	\$50,000.00	\$50,000.00	\$384,000.00	\$384,000.00	\$175,000.00	\$175,000.00	\$195,118.09
2	1D10MOB	1	L.S.	Mobilization	\$1,908,000.00	\$1,908,000.00	\$1,740,000.00	\$1,740,000.00	\$950,000.00	\$950,000.00	\$780,000.00	\$780,000.00	\$750,000.00
3	1G01SCH	1	L.S.	Progress Schedule	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$29,000.00	\$29,000.00	\$75,000.00	\$75,000.00	\$2,625.00
4	2A02CAG	1	L.S.	Clearing and Grubbing	\$475,000.00	\$475,000.00	\$200,000.00	\$200,000.00	\$525,000.00	\$525,000.00	\$444,000.00	\$444,000.00	\$312,000.00
5	2B02REX	32,578.00	C.Y.	Roadway Excavation, Earth	\$16.00	\$521,248.00	\$6.50	\$211,757.00	\$10.00	\$325,780.00	\$7.00	\$228,046.00	\$12.50
6	2B15STS	15,997.00	C.Y.	Stripping Topsoil	\$13.00	\$207,961.00	\$20.00	\$319,940.00	\$8.00	\$127,976.00	\$7.00	\$111,979.00	\$8.63
7	2C01EMB	44,398.00	C.Y.	Embankment, Common	\$15.00	\$665,970.00	\$12.00	\$532,776.00	\$11.00	\$488,378.00	\$6.00	\$266,388.00	\$6.71
8	2C02EMB	44,541.00	C.Y.	Embankment, Grade A	\$31.00	\$1,380,771.00	\$27.00	\$1,202,607.00	\$20.00	\$890,820.00	\$18.00	\$801,738.00	\$25.03
9	2C00008	33	C.Y.	#57 Stone Backfill	\$90.00	\$2.970.00	\$80.00	\$2.640.00	\$80.00	\$2,640.00	\$50.00	\$1,650.00	\$97.57
10	2E01CAL	67	C.Y.	Coarse Aggregate Layer	\$100.00	\$6,700.00	\$43.00	\$2.881.00	\$80.00	\$5,360.00	\$50.00	\$3,350.00	\$81.83
11	2E01G/KE	685	C.Y.	Foundataion Excavation	\$20.00	\$13,700.00	\$22.00	\$15,070.00	\$40.00	\$27,400.00	\$15.00	\$10,275.00	\$21.51
	ZEOTI EX		0	Riprap Stone Aprons, 12"	*	ψ10,100.00	*	\$10,010.00	,	\$2.7,100.00			
12	2G12A06	20	Ton	Thick, D50=6"	\$65.00	\$1,300.00	\$60.00	\$1,200.00	\$80.00	\$1,600.00	\$60.00	\$1,200.00	\$64.04
13	2G16A01	35	Ton	Riprap Stone Aprons, 16" Thick, D50=8"	\$65.00	\$2,275.00	\$60.00	\$2,100.00	\$180.00	\$6,300.00	\$60.00	\$2,100.00	\$78.32
14	2G12D07	892	Ton	Riprap Stone Ditch Protection, 12" Thick, D50=6"	\$65.00	\$57,980.00	\$35.00	\$31,220.00	\$55.00	\$49,060.00	\$60.00	\$53,520.00	\$62.26
15	2H00006	3,770.00	L.F.	Heavy Duty Silt Fence, Orange	\$10.00	\$37,700.00	\$5.75	\$21,677.50	\$7.00	\$26,390.00	\$10.00	\$37,700.00	\$5.32
16	2H00007	1,700.00	L.F.	Heavy Duty Silt Fence, Black	\$10.00	\$17,000.00	\$5.75	\$9,775.00	\$7.00	\$11,900.00	\$10.00	\$17,000.00	\$5.97
17	2H35TEC	90	L.F.	Floating Turbidity Barriers	\$25.00	\$2,250.00	\$10.00	\$900.00	\$40.00	\$3,600.00	\$10.00	\$900.00	\$27.89
18	2H40TEC	90	Each	Inlet Filters	\$100.00	\$9,000.00	\$50.00	\$4,500.00	\$200.00	\$18,000.00	\$20.00	\$1,800.00	\$195.42
19	2H45TEC	470	Ton	Construction Driveway	\$60.00	\$28,200.00	\$20.00	\$9,400.00	\$60.00	\$28,200.00	\$23.00	\$10,810.00	\$36.65
20	2J01DES	1	L.S.	Demolition of Existing Structures	\$50,000.00	\$50,000.00	\$100,000.00	\$100,000.00	\$225,000.00	\$225,000.00	\$50,000.00	\$50,000.00	\$43,070.44
21	2L02SSC	12,116.00	L.F.	Sawcutting	\$0.75	\$9,087.00	\$1.00	\$12,116.00	\$0.60	\$7,269.60	\$1.00	\$12,116.00	\$0.76
22	3A05ABC	265	S.Y.	Aggregate Base Course, 5" Thick	\$9.00	\$2,385.00	\$9.00	\$2,385.00	\$10.00	\$2,650.00	\$7.00	\$1,855.00	\$7.89
23	3A07ABC	82,146.00	S.Y.	Aggregate Base Course, 6.5" Thick	\$10.00	\$821,460.00	\$9.00	\$739,314.00	\$6.00	\$492,876.00	\$7.50	\$616,095.00	\$6.56
				Superpave Hot Mix Asphalt 19H 76 Intermediate									
24	3B24SUP	13,656.00	Ton	Course	\$73.00	\$996,888.00	\$75.00	\$1,024,200.00	\$65.00	\$887,640.00	\$68.00	\$928,608.00	\$63.00
25	3B25SUP	11,335.00	Ton	Superpave Hot Mix Asphalt 12.5H 76 Surface Course	\$74.00	\$838,790.00	\$76.00	\$861,460.00	\$68.00	\$770,780.00	\$69.00	\$782,115.00	\$67.46
			_	Superpave Hot Mix Asphalt							***		
26	3B21SUP	38,669.00	Ton	25H 64 Base Course Asphalt Price Adjustment	\$66.00	\$2,552,154.00	\$64.00	\$2,474,816.00	\$55.00	\$2,126,795.00	\$61.00	\$2,358,809.00	\$51.71
0.7				(This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$65,000. Enter a Unit Price of \$65,000 as your bid for	#05.000.00	\$25,000.00	#05.000.00	#05 000 00	* 05 000 00	\$05,000,00	#05 000 00	***	COT 000 00
27	3B65APA	1	L.S.	this item.) Berm Surfacing, 3 Inches	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00
28	3C01BRS	5,289.00	S.Y.	Thick	\$20.00	\$105,780.00	\$15.00	\$79,335.00	\$25.00	\$132,225.00	\$15.00	\$79,335.00	\$14.18
29	3C02BRS	1,436.00	S.Y.	Berm Surfacing, Crushed Stone, 6" Thick	\$15.00	\$21,540.00	\$9.75	\$14,001.00	\$18.00	\$25,848.00	\$7.00	\$10,052.00	\$12.60
30	3F01MRS	22,800.00	L.F.	Milled Rumble Strip	\$2.50	\$57,000.00	\$0.50	\$11,400.00	\$1.00	\$22,800.00	\$0.50	\$11,400.00	\$0.35
31	4A00005	39	C.Y.	Concrete In Culvert	\$2,500.00	\$97,500.00	\$1,650.00	\$64,350.00	\$1,500.00	\$58,500.00	\$800.00	\$31,200.00	\$1,637.55

		ITE	MS		J.H. Reid Gen	eral Contractor	South S	State, Inc.		B. Anthony Const p JV	Carbro Const	ructors Corp	IEW Construc
32	4A00006	105	L.F.	Precast Reinforced Concrete 3-Sided Box Culvert	\$1,800.00	\$189,000.00	\$2,300.00	\$241,500.00	\$1,800.00	\$189,000.00	\$2,000.00	\$210,000.00	\$1,962.68
33	4A01STC	77	C.Y.	Concrete In Substructure Above Footings	\$1,100.00	\$84,700.00	\$1,350.00	\$103,950.00	\$1,000.00	\$77,000.00	\$750.00	\$57,750.00	\$930.57
34	4A04STC	196	C.Y.	Concrete In Footings	\$700.00	\$137,200.00	\$600.00	\$117,600.00	\$385.00	\$75,460.00	\$600.00	\$117,600.00	\$443.63
35	4A10RFS	38,623.00	Pound	Reinforcement Steel	\$1.50	\$57,934.50	\$1.20	\$46,347.60	\$1.50	\$57,934.50	\$1.50	\$57,934.50	\$1.23
36	4A10STC	11	C.Y.	Concrete In Bridge Parapet	\$1,900.00	\$20,900.00	\$800.00	\$8,800.00	\$1,100.00	\$12,100.00	\$800.00	\$8,800.00	\$1,642.53
	47(10010		0	Reinforcement Steel.	ψ1,000.00	Ψ20,000.00	Ψοσοίσο	ψο,οσοίσο	ψ1,100.00	ψ12,100.00	φοσοίσσ	ψο,σσσίσσ	ψ1,012.00
37	4A11RFS	8,462.00	Pound	Epoxy Coated Drill and Grout	\$1.90	\$16,077.80	\$1.30	\$11,000.60	\$3.00	\$25,386.00	\$2.00	\$16,924.00	\$1.37
38	4A15DGR	179	Each	Reinforcement Bars	\$60.00	\$10,740.00	\$40.00	\$7,160.00	\$50.00	\$8,950.00	\$5.00	\$895.00	\$48.84
39	4A55CPS	19,534.00	S.F.	Concrete Penetrating SealerTreatment	\$0.50	\$9,767.00	\$0.75	\$14,650.50	\$2.40	\$46,881.60	\$1.50	\$29,301.00	\$1.58
40		27	S.F.	Repair Spalled Concrete,	\$250.00	₽C 7E0 00	\$65.00	¢4.755.00	£400.00	¢40,000,00	\$100.00	£2.700.00	\$140.56
40	4R05SC1	21		Type 1 - Culvert Furnishing Equipment for	\$250.00	\$6,750.00	\$65.00	\$1,755.00	\$400.00	\$10,800.00	\$100.00	\$2,700.00	\$140.56
41	4E01EDP	1	L.S.	Driving Piles	\$200,000.00	\$200,000.00	\$50,000.00	\$50,000.00	\$200,000.00	\$200,000.00	\$75,000.00	\$75,000.00	\$77,477.08
42	4E01PLT	4	Each	Dynamic Pile Load Tests	\$2,000.00	\$8,000.00	\$5,200.00	\$20,800.00	\$3,000.00	\$12,000.00	\$3,500.00	\$14,000.00	\$2,625.00
43	4.00E+30	6,246.00	L.F.	Furnishing 14" Diameter Steel Pipe Piles	\$35.00	\$218,610.00	\$27.00	\$168,642.00	\$25.00	\$156,150.00	\$42.00	\$262,332.00	\$32.84
44	4.00E+31	5,784.00	L.F.	Driving 14" Diameter Steel Pipe Piles	\$25.00	\$144,600.00	\$20.00	\$115,680.00	\$9.00	\$52,056.00	\$17.00	\$98,328.00	\$18.95
45	4ZL0016	85	L.F.	54" Drilled Shaft for Sign Structures	\$650.00	\$55,250.00	\$950.00	\$80,750.00	\$1,400.00	\$119,000.00	\$775.00	\$65,875.00	\$786.45
46	4F01CSS	1	L.S.	Overhead Cantilever Sign Support Structure No. 1	\$42,000,00	\$42,000,00	\$42,000.00	\$42.000.00	\$45,000.00	\$45,000,00	\$46,000.00	\$46,000.00	\$43,050.00
47	4F02CSS	1	L.S.	Overhead Cantilever Sign	\$42,500.00	\$42,500.00	\$42,000.00	\$42,000.00	\$45,000.00	\$45,000.00	\$47,000.00	\$47,000.00	\$43,575.00
48	4F02CSS 4F01OBS	1	L.S.	Support Structure No. 2 Overhead Butterfly Sign	\$45,000.00	\$45,000.00	\$42,000.00	\$41,500.00	\$45,000.00	\$45,000.00	\$46,000.00	\$46,000.00	\$45,675.00
				Support Structure No. 1 Substructure Membrane					·	. ,			
49	N4J0001	5,763.00	S.F.	Waterproofing	\$10.00	\$57,630.00	\$9.00	\$51,867.00	\$12.00	\$69,156.00	\$10.00	\$57,630.00	\$11.03
50	4001TSP	840	S.F.	Temporary Sheeting	\$10.00	\$8,400.00	\$0.01	\$8.40	\$400.00	\$336,000.00	\$2.00	\$1,680.00	\$51.58
51	4002TSP	3,030.00	S.F.	Temporary Sheeting to Remain in Place	\$40.00	\$121,200.00	\$50.00	\$151,500.00	\$100.00	\$303,000.00	\$33.00	\$99,990.00	\$70.58
52	4ZF0019	1,840.00	S.F.	Retaining Wall No. 501-1	\$175.00	\$322,000.00	\$145.00	\$266,800.00	\$185.00	\$340,400.00	\$155.00	\$285,200.00	\$131.83
53	4ZF0020	6,570.00	S.F.	Retaining Wall No. 501-2	\$185.00	\$1,215,450.00	\$175.00	\$1,149,750.00	\$205.00	\$1,346,850.00	\$160.00	\$1,051,200.00	\$157.19
54	4ZF0021	210	S.F.	Retaining Wall No. 501-3	\$200.00	\$42,000.00	\$235.00	\$49,350.00	\$285.00	\$59,850.00	\$290.00	\$60,900.00	\$193.29
55	4ZF0022	5,960.00	S.F.	Retaining Wall No. 501-4	\$155.00	\$923,800.00	\$130.00	\$774,800.00	\$195.00	\$1,162,200.00	\$130.00	\$774,800.00	\$116.43
56	4ZF0023	1,665.00	S.F.	Retaining Wall No. 501-5	\$250.00	\$416,250.00	\$245.00	\$407,925.00	\$325.00	\$541,125.00	\$250.00	\$416,250.00	\$245.65
57	5A08PUD	17,786.00	L.F.	8" Pipe Underdrain	\$22.00	\$391,292.00	\$27.00	\$480,222.00	\$30.00	\$533,580.00	\$30.00	\$533,580.00	\$18.82
58	5A12PBD	1,378.00	L.F.	12" Bleeder Drain	\$18.00	\$24,804.00	\$10.00	\$13,780.00	\$30.00	\$41,340.00	\$20.00	\$27,560.00	\$18.49
59	5A00004	429	L.F.	8" Outlet Pipe	\$15.00	\$6,435.00	\$36.00	\$15,444.00	\$45.00	\$19,305.00	\$25.00	\$10,725.00	\$19.52
60	5B15RC3	4.818.00	L.F.	15" Reinforced Concrete Pipe	\$45.00	\$216.810.00	\$37.00	\$178,266.00	\$40.00	\$192,720.00	\$55.00	\$264.990.00	\$39.80
61	5B18RC3	2,469.00	L.F.	18" Reinforced Concrete	\$50.00	\$123,450.00	\$45.00	\$111,105.00	\$40.00	\$98,760.00	\$60.00	\$148,140.00	\$47.39
62	5B16RC3 5B24RC3	3,783.00	L.F.	Pipe 24" Reinforced Concrete	\$55.00	\$208,065.00	\$54.00	\$204,282.00	\$75.00	\$283,725.00	\$70.00	\$264,810.00	\$57.45
		,		Pipe 30 " Reinforced Concrete			******	,	·	. ,	,		
63	5B30RC3	1,767.00	L.F.	Pipe, Class III 36" Reinforced Concrete	\$70.00	\$123,690.00	\$60.00	\$106,020.00	\$85.00	\$150,195.00	\$90.00	\$159,030.00	\$79.82
64	5B36RC3	316	L.F.	Pipe, Class III 24" Reinforced Concrete	\$90.00	\$28,440.00	\$95.00	\$30,020.00	\$110.00	\$34,760.00	\$100.00	\$31,600.00	\$120.81
65	5B24RCE	2	Each	Flared End Sections Clean Existing Drainage	\$1,500.00	\$3,000.00	\$2,000.00	\$4,000.00	\$1,800.00	\$3,600.00	\$1,000.00	\$2,000.00	\$1,924.53
66	5C56CDS	1,500.00	L.F.	System Drainage	\$6.00	\$9,000.00	\$3.25	\$4,875.00	\$10.00	\$15,000.00	\$5.00	\$7,500.00	\$4.67

B			ITE	MS		J.H. Reid Gen	eral Contractor	South S	State, Inc.	AServidone Inc/E		Carbro Constr	uctors Corp	IEW Construc
Fig. GCOMPT 14 Earth Marnicas Type P-1 \$1,000.00 \$32,000	67	5C01ND1	15	Each	Inlet, Type D1	\$1,600.00	\$24,000.00	\$3,800.00	\$57,000.00	\$2,000.00	\$30,000.00	\$2,600.00	\$39,000.00	\$1,832.39
77	68	5C01ND2	63	Each	Inlet, Type D2	\$2,200.00	\$138,600.00	\$3,900.00	\$245,700.00	\$2,400.00	\$151,200.00	\$2,800.00	\$176,400.00	\$2,452.47
PT	69	5C20NP1	14	Each	Manhole, Type P-1	\$1,900.00	\$26,600.00	\$3,700.00	\$51,800.00	\$2,200.00	\$30,800.00	\$2,200.00	\$30,800.00	\$2,757.97
77 \$500018 3 Ench Inst. Type D21 \$5,000.00 \$4,000.00 \$1,200.00 \$3,200.00 \$5,800.00 \$5,800.00 \$5,800.00 \$5,800.00 \$3,000.00 \$1,000.00	70	5C20NP2	6	Each	Manhole, Type P-2	\$2,300.00	\$13,800.00	\$5,000.00	\$30,000.00	\$3,500.00	\$21,000.00	\$3,500.00	\$21,000.00	\$3,401.69
73	71	5C00017	6	Each	Manhole, Type MHX	\$3,000.00	\$18,000.00	\$3,700.00	\$22,200.00	\$3,100.00	\$18,600.00	\$3,500.00	\$21,000.00	\$3,845.29
Text	72	5C00018	3	Each	Inlet, Type D2-1	\$3,000.00	\$9,000.00	\$4,000.00	\$12,000.00	\$3,200.00	\$9,600.00	\$4,000.00	\$12,000.00	\$3,750.95
Processing Pro	73	5C00019	1	Each	Inlet, Type DBL D2-1	\$5,300.00	\$5,300.00	\$7,100.00	\$7,100.00	\$7,200.00	\$7,200.00	\$5,500.00	\$5,500.00	\$6,199.07
PR	74	5C00020	5	Each	Inlet, Type D2S	\$2,500.00	\$12,500.00	\$4,000.00	\$20,000.00	\$3,200.00	\$16,000.00	\$3,000.00	\$15,000.00	\$3,001.33
Process	75	5C00021	1	Each	Inlet, Type D2-1S	\$3,100.00	\$3,100.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$3,767.93
78	76	5D10INC	2	C.Y.	Incidental Concrete	\$650.00	\$1,300.00	\$750.00	\$1,500.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00	\$734.22
Page SizeBgR 4,753.00 LF. Beam Guide Rail S13.00 S17.89.00 S12.50 S95.412.50 S15.00 S71.295.00 S14.00 S66.542.00	77	5I01SNP	621	S.F.	Sign Panels	\$21.00	\$13,041.00	\$23.50	\$14,593.50	\$25.00	\$15,525.00	\$22.00	\$13,662.00	\$21.00
Bab	78	5I05SPP	141	L.F.	U-channel Post	\$12.00	\$1,692.00	\$24.50	\$3,454.50	\$30.00	\$4,230.00	\$12.00	\$1,692.00	\$10.50
80 5152BGD 10,574.00 LF. Faced \$15.00 \$158,810.00 \$18.00 \$190,332.00 \$20.00 \$211,480.00 \$16.00 \$16.00 \$16,9184.00 \$18.01 \$18	79	5J52BGR	4,753.00	L.F.	Beam Guide Rail	\$13.00	\$61,789.00	\$12.50	\$59,412.50	\$15.00	\$71,295.00	\$14.00	\$66,542.00	\$12.60
81 5J52DFB 38 L.F. Faced Bridge \$185.00 \$7,030.00 \$101.00 \$3,383.00 \$115.00 \$4,370.00 \$180.00 \$6,840.00 \$2,552ABG 6 Each Anchorage \$550.00 \$3,300.00 \$4,000.00 \$5,000.00 \$3,300.00 \$550.00 \$3,000.00 \$550.00 \$3,000.00 \$3,300.00 \$	80	5J52BGD	10,574.00	L.F.	Faced	\$15.00	\$158,610.00	\$18.00	\$190,332.00	\$20.00	\$211,480.00	\$16.00	\$169,184.00	\$15.23
82 5J92ABG 6 Each Anchorage \$55.00 \$3,300.00 \$460.00 \$2,760.00 \$50.000 \$3,000.00 \$550.00 \$3,300.00 \$6,000.00 \$1,450.00 \$1,450.00 \$1,700.00 \$2,000.00 \$6,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$3,000.00	81	5J52DFB	38	L.F.	Faced, Bridge	\$185.00	\$7,030.00	\$101.00	\$3,838.00	\$115.00	\$4,370.00	\$180.00	\$6,840.00	\$183.75
83 SJ01PCB 3 Each A S2,000.00 \$6,000.00 \$1,450.00 \$3,700.00 \$5,100.00 \$2,000.00 \$6,000.00 \$2,000.00 \$6,000.00 \$2,000.00 \$6,000.00 \$2,000.00 \$6,000.00	82	5J52ABG	6	Each	Anchorage	\$550.00	\$3,300.00	\$460.00	\$2,760.00	\$500.00	\$3,000.00	\$550.00	\$3,300.00	\$551.25
84 5J0FPCB 3 Each B \$550.00 \$1,650.00 \$175.00 \$525.00 \$300.00 \$900.00 \$600.00 \$1,800.00	83	5J01PCA	3	Each	A	\$2,000.00	\$6,000.00	\$1,450.00	\$4,350.00	\$1,700.00	\$5,100.00	\$2,000.00	\$6,000.00	\$2,047.50
86 5.554BGP 28 Each Beam Guide Rail Post \$55.00 \$1.540.00 \$39.00 \$1.092.00 \$50.00 \$1.400.00 \$55.00 \$1.540.00 \$	84	5J01PCB	3	Each	B	\$550.00	\$1,650.00	\$175.00	\$525.00	\$300.00	\$900.00	\$600.00	\$1,800.00	\$551.25
Removal of Beam Guide S15.00 S12.405.00 S1.80 S1.488.60 S5.00 S4.135.00 S4	85	5J00FGT	2	Each	Flared Guide Rail Terminal	\$1,800.00	\$3,600.00	\$1,850.00	\$3,700.00	\$2,100.00	\$4,200.00	\$2,000.00	\$4,000.00	\$1,785.00
87 SJ01BBG 827 L.F. Tail S15.00 \$12,405.00 \$1.80 \$1,488.60 \$5.00 \$4,135.00 \$5.00 \$4,135.00 \$8.00 \$1,152.00 \$1.524.00	86	5J54BGP	28	Each	Beam Guide Rail Post	\$55.00	\$1,540.00	\$39.00	\$1,092.00	\$50.00	\$1,400.00	\$55.00	\$1,540.00	\$52.50
88 5K00001 11,524.00 L.F. 84* High \$18.00 \$207,432.00 \$16.75 \$193,027.00 \$20.00 \$230,480.00 \$17.00 \$195,908.00 89 5K00005 1 Each Chain Link Fence Gate \$4,850.00 \$4,500.00 \$4,500.00 \$15,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$30,000.00 \$1,000.00 \$42,000.00 \$80,000 \$33,600.00 \$704.00 \$2,00 \$42,000.00 \$40,000.00 \$30,000.00 \$704.00 </td <td>87</td> <td>5J01RBG</td> <td>827</td> <td>L.F.</td> <td>rail</td> <td>\$15.00</td> <td>\$12,405.00</td> <td>\$1.80</td> <td>\$1,488.60</td> <td>\$5.00</td> <td>\$4,135.00</td> <td>\$5.00</td> <td>\$4,135.00</td> <td>\$0.53</td>	87	5J01RBG	827	L.F.	rail	\$15.00	\$12,405.00	\$1.80	\$1,488.60	\$5.00	\$4,135.00	\$5.00	\$4,135.00	\$0.53
89 5K00005 1 Each Chain Link Fence Gate \$4,850.00 \$4,850.00 \$4,500.00 \$15,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$9,000.00 \$1,000.00 \$	88	5K00001	11 524 00	l F		\$18.00	\$207 432 00	\$16.75	\$193 027 00	\$20.00	\$230,480,00	\$17.00	\$195 908 00	\$17.22
90			1											\$4,882.50
91 5010GBSW 22 Each Delineator, Type GBS-W \$32.00 \$704.00 \$29.75 \$654.50 \$35.00 \$770.00 \$32.00 \$704.00 \$92.00 \$2,000.00 \$93.00 \$704.00 \$92.00 \$2,000.00 \$1.00 \$1,400.00 \$93.00 \$1,400.00 \$93.00 \$1,400.00 \$93.00 \$1,400.00 \$93.00 \$1,400.00 \$93.00 \$1,400.00 \$93.00 \$1,400.00 \$93.00 \$1,400.00 \$93.00 \$1,400.00 \$93.00 \$1,400.00 \$93.00 \$1,400.00 \$93.00 \$1,400.00 \$93.00 \$1,400.00 \$93.00 \$1,400.00 \$93.00 \$1,400.00 \$93.00 \$1,400.00 \$1,400.00 \$1,400.00 \$93.00 \$1,400			42											\$392.28
92 SP06PTW 1,400.00 L.F. 6' Wide S0.40 \$560.00 \$0.50 \$700.00 \$2.00 \$2,800.00 \$1.00 \$1,400.00 \$930.00 \$1.00 \$1,400.00 \$1.00 \$1,400.00 \$1.00 \$1,400.00 \$1.00 \$1,400.00 \$1.00 \$1,400.00 \$1.00 \$1,400.00 \$1.00 \$1,400.00 \$1.00 \$1,400.00 \$1.00 \$1,400.00 \$1.00 \$1,400.00 \$1.00 \$1,400.00 \$1.00 \$1,400.00 \$1,	91			Each								\$32.00		\$31.50
93 5V01PIT 10 Each Test Pits \$500.00 \$5,000.00 \$3,000.00 \$1,200.00 \$11,200.00 \$50.00 \$500.00 \$0.					Pavement Striping, White		·				·	\$4.00		\$1.05
94														\$655.64
94 5XIA001 2 Each Turn \$5,000.00 \$10,000.00 \$3,500.00 \$7,000.00 \$4,200.00 \$8,400.00 \$4,500.00 \$9,000.00 \$1,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.00 \$2,000.00 \$1,000.0	93	SVUIPII	10	Lacii		\$300.00	φ3,000.00	φ300.00	\$3,000.00	\$1,200.00	\$12,000.00	φ30.00	\$300.00	φ033.04
96 5ZG01PJ 234 L.F. 24* Reinforced Concrete Pipe Class V, Pipe jacking \$1,000.00 \$234,000.00 \$1,100.00 \$257,400.00 \$1,600.00 \$374,400.00 \$825.00 \$193,050.00 \$193,050.00 \$100.	94	5XIA001	2	Each		\$5,000.00	\$10,000.00	\$3,500.00	\$7,000.00	\$4,200.00	\$8,400.00	\$4,500.00	\$9,000.00	\$5,250.00
96 5ZG01PJ 234 L.F. Pipe Class V, Pipe jacking \$1,000.00 \$234,000.00 \$1,100.00 \$257,400.00 \$1,600.00 \$374,400.00 \$825.00 \$193,050.00 \$374,000.00 \$374,400.00 \$374,	95	5Y01MMG	20	Each	Mile Marker, Type MG	\$77.00	\$1,540.00	\$70.00	\$1,400.00	\$100.00	\$2,000.00	\$100.00	\$2,000.00	\$78.75
97 5ZJ01STU 9 Each Units \$32,500.00 \$292,500.00 \$35,000.00 \$315,000.00 \$40,000.00 \$360,000.00 \$45,000.00 \$45,000.00 \$36 98 6J00029 2,580.00 L.F. Bank, Soft Encased \$26.00 \$67,080.00 \$24.50 \$63,210.00 \$20.00 \$51,600.00 \$18.00 \$46,440.00 \$360,000.00 \$46,000.00 \$360,000.00 \$45,000.00 \$360,000.00 \$45,000.00 \$360,000.00 \$45,000.00 \$360,000.00 \$45,000.00 \$360,000 \$360,000 \$360,000.00 \$360,000	96	5ZG01PJ	234	L.F.	Pipe Class V, Pipe jacking	\$1,000.00	\$234,000.00	\$1,100.00	\$257,400.00	\$1,600.00	\$374,400.00	\$825.00	\$193,050.00	\$1,011.86
98 6J00029 2,580.00 L.F. Bank, Soft Encased \$26.00 \$67,080.00 \$24.50 \$63,210.00 \$20.00 \$51,600.00 \$18.00 \$46,440.00 \$99 6J00030 3,180.00 L.F. Bank, Concrete Encased \$38.00 \$120,840.00 \$35.00 \$111,300.00 \$30.00 \$95,400.00 \$127,200.00 \$100 6A03RMU 140 L.F. Underground \$32.00 \$4,480.00 \$28.00 \$3,920.00 \$26.00 \$3,640.00 \$20.00 \$2,800.00 \$100 \$100 \$100 \$100 \$100 \$100 \$100	97	5ZJ01STU	9	Each	Units	\$32,500.00	\$292,500.00	\$35,000.00	\$315,000.00	\$40,000.00	\$360,000.00	\$45,000.00	\$405,000.00	\$36,099.80
99 6J00030 3,180.00 L.F. Bank, Concrete Encased \$38.00 \$120,840.00 \$35.00 \$111,300.00 \$30.00 \$95,400.00 \$40.00 \$127,200.00 \$100 6A03RMU 140 L.F. Underground \$32.00 \$4,480.00 \$28.00 \$3,920.00 \$26.00 \$3,640.00 \$20.00 \$2,800.00 \$101 6A03RMS 4,690.00 L.F. on Structures \$28.00 \$131,320.00 \$26.00 \$3,600.00 \$30.00 \$140,700.00 \$15.00 \$70,350.00 \$102 6A25JPS 11 Each Junction Box, Type PS \$4,200.00 \$46,200.00 \$3,600.00 \$39,600.00 \$2,000.00 \$2	98	6.100029	2 580 00	l F		\$26.00	\$67,080,00	\$24.50	\$63 210 00	\$20.00	\$51,600,00	\$18.00	\$46 440 00	\$26.25
100 6A03RMU 140 L.F. 3" Rigid Metallic Conduit, Underground \$32.00 \$4,480.00 \$28.00 \$3,920.00 \$26.00 \$3,640.00 \$2,800.00 101 6A03RMS 4,690.00 L.F. 3" Rigid Metallic Conduit, On Structures \$28.00 \$131,320.00 \$26.00 \$121,940.00 \$30.00 \$140,700.00 \$15.00 \$70,350.00 102 6A25JPS 11 Each Junction Box, Type PS \$4,200.00 \$3,600.00 \$39,600.00 \$22,000.00 \$20,000.00 \$22,000.00 \$22,000.00 \$20,000.00			,		4-Way Power/Comm Duct	,		•			. ,	·		\$38.33
101 6A03RMS 4,690.00 L.F. on Structures \$28.00 \$131,320.00 \$26.00 \$121,940.00 \$30.00 \$140,700.00 \$15.00 \$70,350.00 102 6A25JPS 11 Each Junction Box, Type PS \$4,200.00 \$46,200.00 \$39,600.00 \$2,000.00 \$22,000.00 \$22,000.00 \$22,000.00 \$20	100	6A03RMU	140	L.F.	3" Rigid Metallic Conduit,	\$32.00	\$4,480.00	\$28.00	\$3,920.00	\$26.00	\$3,640.00	\$20.00	\$2,800.00	\$31.50
102 6A25JPS 11 Each Junction Box, Type PS \$4,200.00 \$46,200.00 \$3,600.00 \$3,600.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$5,	101	6A03RMS	4,690.00	L.F.	3" Rigid Metallic Conduit,	\$28.00	\$131,320.00	\$26.00	\$121,940.00	\$30.00	\$140,700.00	\$15.00	\$70,350.00	\$27.83
	102	6A25JPS	11	Each		\$4,200.00	\$46,200.00	\$3,600.00	\$39,600.00	\$2,000.00	\$22,000.00	\$2,000.00	\$22,000.00	\$3,832.50
103 6A24JBC 30 Each Junction Box, Type C \$3,150.00 \$94,500.00 \$2,550.00 \$76,500.00 \$3,500.00 \$105,000.00 \$1,000.00 \$30,000.00 \$3	103	6A24JBC	30	Each	Junction Box, Type C	\$3,150.00	\$94,500.00	\$2,550.00	\$76,500.00	\$3,500.00	\$105,000.00	\$1,000.00	\$30,000.00	\$2,730.00
104 6A25JBD 11 Each Junction Box, Type D \$2,000.00 \$1,400.00 \$1,400.00 \$1,000.00 \$11,000.00 \$1,000.00 \$11,000.00 \$1,000.00 \$1,000.00 \$10,000.00	104	6A25JBD	11	Each	Junction Box, Type D	\$2,000.00	\$22,000.00	\$1,400.00	\$15,400.00	\$1,000.00	\$11,000.00	\$1,000.00	\$11,000.00	\$1,522.50
105 7C01TOP 16,605.00 S.Y. Topsoil \$3.50 \$58,117.50 \$1.30 \$21,586.50 \$1.50 \$24,907.50 \$2.00 \$33,210.00	105	7C01TOP	16,605.00	S.Y.	Topsoil	\$3.50	\$58,117.50	\$1.30	\$21,586.50	\$1.50	\$24,907.50	\$2.00	\$33,210.00	\$2.68

										B. Anthony Const			
		ITE		_		eral Contractor		state, Inc.		p JV	Carbro Cons		IEW Construc
106	7D01SED	3,897.00	S.Y.	Seeding, Type A	\$0.70	\$2,727.90	\$0.75	\$2,922.75	\$1.00	\$3,897.00	\$1.00	\$3,897.00	\$0.89
107	7D08SED	12,708.00	S.Y.	Seeding, Type L	\$0.80	\$10,166.40	\$0.75	\$9,531.00	\$1.00	\$12,708.00	\$1.00	\$12,708.00	\$0.42
108	7F01SSM	12,708.00	S.Y.	Soil Stablization Matting	\$2.75	\$34,947.00	\$3.00	\$38,124.00	\$4.00	\$50,832.00	\$4.00	\$50,832.00	\$1.93
109	N8A0004	2	Each	Portable Variable Message Sign	\$20,000.00	\$40,000.00	\$22,000.00	\$44,000.00	\$20,000.00	\$40,000.00	\$5,000.00	\$10,000.00	\$3,305.90
110	N8A0005	2	Each	Furnishing Temporary Impact Attenuator, Frangible Module Type A	\$7,500.00	\$15,000.00	\$1,700.00	\$3,400.00	\$8,000.00	\$16,000.00	\$4,000.00	\$8,000.00	\$4,488.75
111	N8A0006	2	Each	Placing and Removing Temporary Impact Attenuator, Frangible Module Type	\$2,500.00	\$5,000.00	\$1,000.00	\$2,000.00	\$3,500.00	\$7,000.00	\$1,000.00	\$2,000.00	\$2,382.46
112	N8A0012	6	Each	Furnishing Temporary Impact Attenuator, Quadquard Placing And Removing	\$30,000.00	\$180,000.00	\$4,400.00	\$26,400.00	\$30,000.00	\$180,000.00	\$4,000.00	\$24,000.00	\$15,855.00
113	N8A0013	6	Each	Temporary Impact Attenuator, Quadquard	\$2,500.00	\$15,000.00	\$1,450.00	\$8,700.00	\$3,000.00	\$18,000.00	\$1,500.00	\$9,000.00	\$2,835.00
114	8B01MPT	4,000.00	L.F.	Furnishing Concrete Barrier	\$40.00	\$160,000.00	\$26.00	\$104,000.00	\$40.00	\$160,000.00	\$45.00	\$180,000.00	\$14.57
115	8B10MPT	12,150.00	L.F.	Placing and Removing Concrete Barrier	\$15.00	\$182,250.00	\$2.00	\$24,300.00	\$8.00	\$97,200.00	\$6.00	\$72,900.00	\$12.05
116	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$120,000.00	\$120,000.00	\$125,000.00	\$125,000.00	\$28,507.50
117	8B31MPT	1	L.S.	Maintenance and Protection of Traffic	\$600,000.00	\$600,000.00	\$100,000.00	\$100,000.00	\$225,000.00	\$225,000.00	\$75,000.00	\$75,000.00	\$88,383.97
118	2M00006	1,528.00	C.Y.	Excavation, Acid Producing Soils	\$16.00	\$24,448.00	\$10.00	\$15,280.00	\$30.00	\$45,840.00	\$3.00	\$4,584.00	\$9.19
119	2M00007	4,584.00	S.Y.	Acid-Producing Soils Remediation	\$1.00	\$4,584.00	\$5.00	\$22,920.00	\$2.00	\$9,168.00	\$2.00	\$9,168.00	\$2.57
120	3B26TAC	250	Gallon	Tack Coat	\$10.00	\$2,500.00	\$0.01	\$2.50	\$25.00	\$6,250.00	\$4.00	\$1,000.00	\$5.25
121	5C00008	2	Each	Inlet, Type Double D2	\$4,100.00	\$8,200.00	\$7,100.00	\$14,200.00	\$5,500.00	\$11,000.00	\$6,000.00	\$12,000.00	\$5,121.48
	•	TOTAL OF A	BOVE ITEM	S		\$19,890,658.10		\$17,403,934.95		\$18,549,099.20		\$15,717,711.50	

		ITE	MS		tion Group, Inc	RE Pierson Cons	truction Co., Inc.	Tarheel Ent	erprises Inc.	Agate Constru	uction Co., Inc.	Crisdel G	roup. Inc.
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	1D01LAY	1	L.S.	Construction Layout	\$195,118.09	\$365,000.00	\$365,000.00	\$300,000.00	\$300,000.00	\$250,000.00	\$250,000.00	\$282,524.55	\$282,524.55
2	1D10MOB	1	L.S.	Mobilization	\$750,000.00	\$1,119,000.00	\$1,119,000.00	\$600,000.00	\$600,000.00	\$800,000.00	\$800,000.00	\$880,000.00	\$880,000.00
3	1G01SCH	1	L.S.	Progress Schedule	\$2,625.00	\$28,600.00	\$28,600.00	\$26,000.00	\$26,000.00	\$10,000.00	\$10,000.00	\$23,835.00	\$23,835.00
4	2A02CAG	1	L.S.	Clearing and Grubbing	\$312,000.00	\$250,000.00	\$250,000.00	\$200,000.00	\$200,000.00	\$400,000.00	\$400,000.00	\$99,750.00	\$99,750.00
5	2B02REX	32,578.00	C.Y.	Roadway Excavation, Earth	\$407,225.00	\$15.50	\$504,959.00	\$20.00	\$651,560.00	\$16.00	\$521,248.00	\$11.67	\$380,185.26
6	2B15STS	15,997.00	C.Y.	Stripping Topsoil	\$138,054.11	\$14.00	\$223,958.00	\$5.00	\$79,985.00	\$3.00	\$47,991.00	\$17.37	\$277,867.89
7	2C01EMB	44,398.00	C.Y.	Embankment, Common	\$297,910.58	\$16.60	\$737,006.80	\$16.50	\$732,567.00	\$1.00	\$44,398.00	\$9.66	\$428,884.68
8	2C02EMB	44,541.00	C.Y.	Embankment, Grade A	\$1,114,861.23	\$25.30	\$1,126,887.30	\$39.50	\$1,759,369.50	\$23.00	\$1,024,443.00	\$18.59	\$828,017.19
9	2C00008	33	C.Y.	#57 Stone Backfill	\$3,219.81	\$50.00	\$1,650.00	\$90.00	\$2,970.00	\$500.00	\$16,500.00	\$185.08	\$6,107.64
10	2E01CAL	67	C.Y.	Coarse Aggregate Layer	\$5,482.61	\$50.00	\$3,350.00	\$53.00	\$3,551.00	\$150.00	\$10,050.00	\$146.67	\$9,826.89
11	2E01FEX	685	C.Y.	Foundataion Excavation	\$14,734.35	\$18.00	\$12,330.00	\$30.00	\$20,550.00	\$30.00	\$20,550.00	\$41.64	\$28,523.40
12	2G12A06	20	Ton	Riprap Stone Aprons, 12" Thick, D50=6"	\$1,280.80	\$63.00	\$1,260.00	\$143.50	\$2,870.00	\$200.00	\$4,000.00	\$131.51	\$2,630.20
13	2G16A01	35	Ton	Riprap Stone Aprons, 16" Thick, D50=8"	\$2,741.20	\$63.00	\$2,205.00	\$160.00	\$5,600.00	\$200.00	\$7,000.00	\$115.17	\$4,030.95
14	2G12D07	892	Ton	Riprap Stone Ditch Protection, 12" Thick, D50=6"	\$55,535.92	\$60.00	\$53,520.00	\$63.00	\$56,196.00	\$50.00	\$44,600.00	\$94.43	\$84,231.56
15	2H00006	3,770.00	L.F.	Heavy Duty Silt Fence, Orange	\$20,056.40	\$6.40	\$24,128.00	\$6.50	\$24,505.00	\$7.00	\$26,390.00	\$3.19	\$12,026.30
16	2H00007	1,700.00	L.F.	Heavy Duty Silt Fence, Black	\$10,149.00	\$6.40	\$10,880.00	\$6.50	\$11,050.00	\$7.00	\$11,900.00	\$3.82	\$6,494.00
17	2H35TEC	90	L.F.	Floating Turbidity Barriers	\$2,510.10	\$24.50	\$2,205.00	\$25.00	\$2,250.00	\$200.00	\$18,000.00	\$25.63	\$2,306.70
18	2H40TEC	90	Each	Inlet Filters	\$17,587.80	\$165.00	\$14,850.00	\$170.00	\$15,300.00	\$150.00	\$13,500.00	\$569.10	\$51,219.00
19	2H45TEC	470	Ton	Construction Driveway	\$17,225.50	\$34.00	\$15,980.00	\$42.00	\$19,740.00	\$30.00	\$14,100.00	\$34.24	\$16,092.80
20	2J01DES	1	L.S.	Demolition of Existing Structures	\$43,070.44	\$64,725.00	\$64,725.00	\$60,000.00	\$60,000.00	\$100,000.00	\$100,000.00	\$84,129.15	\$84,129.15
21	2L02SSC	12,116.00	L.F.	Sawcutting	\$9,208.16	\$4.20	\$50,887.20	\$0.60	\$7,269.60	\$1.50	\$18,174.00	\$1.66	\$20,112.56
22	3A05ABC	265	S.Y.	Aggregate Base Course, 5" Thick	\$2,090.85	\$7.80	\$2,067.00	\$16.75	\$4,438.75	\$10.00	\$2,650.00	\$16.49	\$4,369.85
23	3A07ABC	82,146.00	S.Y.	Aggregate Base Course, 6.5" Thick	\$538,877.76	\$9.70	\$796,816.20	\$8.00	\$657,168.00	\$7.00	\$575,022.00	\$6.05	\$496,983.30
24	3B24SUP	13,656.00	Ton	Superpave Hot Mix Asphalt 19H 76 Intermediate Course	\$860,328.00	\$74.10	\$1,011,909.60	\$75.00	\$1,024,200.00	\$62.00	\$846,672.00	\$68.94	\$941,444.64
25	3B25SUP	11,335.00	Ton	Superpave Hot Mix Asphalt 12.5H 76 Surface Course	\$764,659.10	\$74.50	\$844,457.50	\$80.00	\$906,800.00	\$66.00	\$748,110.00	\$70.61	\$800,364.35
26	3B21SUP	38,669.00	Ton	Superpave Hot Mix Asphalt 25H 64 Base Course	\$1,999,573.99	\$70.80	\$2,737,765.20	\$64.25	\$2,484,483.25	\$51.00	\$1,972,119.00	\$61.84	\$2,391,290.96
27	3B65APA	1	L.S.	Asphalt Price Adjustment (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$65,000. Enter a Unit Price of \$65,000 as your bid for this item.)	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00
28	3C01BRS	5,289.00	S.Y.	Berm Surfacing, 3 Inches Thick	\$74,998.02	\$17.50	\$92,557.50	\$15.00	\$79,335.00	\$13.00	\$68,757.00	\$14.17	\$74,945.13
29	3C02BRS	1,436.00	S.Y.	Berm Surfacing, Crushed Stone, 6" Thick	\$18,093.60	\$11.60	\$16,657.60	\$13.00	\$18,668.00	\$12.00	\$17,232.00	\$12.60	\$18,093.60
30	3F01MRS	22,800.00	L.F.	Milled Rumble Strip	\$7,980.00	\$0.35	\$7,980.00	\$0.50	\$11,400.00	\$0.35	\$7,980.00	\$0.64	\$14,592.00
31	4A00005	39	C.Y.	Concrete In Culvert	\$63,864.45	\$950.00	\$37,050.00	\$1,350.00	\$52,650.00	\$1,200.00	\$46,800.00	\$1,070.29	\$41,741.31

		ITE	MS		tion Group, Inc	RE Pierson Cons	truction Co., Inc.	Tarheel En	terprises Inc.	Agate Constr	uction Co., Inc.	Crisdel G	Froup, Inc.
				Precast Reinforced Concrete 3-Sided Box			·			Ü	·		
32	4A00006	105	L.F.	Culvert	\$206,081.40	\$3,100.00	\$325,500.00	\$1,800.00	\$189,000.00	\$2,000.00	\$210,000.00	\$1,873.67	\$196,735.35
33	4A01STC	77	C.Y.	Concrete In Substructure Above Footings	\$71,653.89	\$1.040.00	\$80,080.00	\$940.00	\$72,380.00	\$800.00	\$61,600.00	\$969.95	\$74,686.15
34	4A04STC	196	C.Y.	Concrete In Footings	\$86,951.48	\$600.00	\$117,600.00	\$350.00	\$68,600.00	\$300.00	\$58,800.00	\$369.23	\$72,369.08
35	4A10RFS	38,623.00	Pound	Reinforcement Steel	\$47,506.29	\$1.30	\$50,209.90	\$1.50	\$57,934.50	\$1.30	\$50,209.90	\$1.45	\$56,003.35
36	4A10STC	11	C.Y.	Concrete In Bridge Parapet	\$18,067.83	\$1,285.00	\$14,135.00	\$750.00	\$8,250.00	\$1,000.00	\$11,000.00	\$1,781.73	\$19,599.03
37	4A11RFS	8,462.00	Pound	Reinforcement Steel, Epoxy Coated	\$11,592.94	\$1.40	\$11,846.80	\$2.00	\$16,924.00	\$1.50	\$12,693.00	\$1.60	\$13,539.20
38	4A15DGR	179	Each	Drill and Grout Reinforcement Bars	\$8,742.36	\$25.50	\$4,564.50	\$37.00	\$6,623.00	\$50.00	\$8,950.00	\$37.68	\$6,744.72
39	4A55CPS	19,534.00	S.F.	Concrete Penetrating	\$30,863.72	\$1.80	\$35,161.20	\$0.80	\$15,627.20	\$1.00	\$19,534.00	\$1.91	\$37,309.94
	4A000F0	,		SealerTreatment Repair Spalled Concrete,			. ,						. ,
40	4R05SC1	27	S.F.	Type 1 - Culvert	\$3,795.12	\$171.00	\$4,617.00	\$75.00	\$2,025.00	\$300.00	\$8,100.00	\$131.10	\$3,539.70
41	4E01EDP	1	L.S.	Furnishing Equipment for Driving Piles	\$77,477.08	\$2,960.00	\$2,960.00	\$50,000.00	\$50,000.00	\$200,000.00	\$200,000.00	\$48,615.00	\$48,615.00
42	4E01PLT	4	Each	Dynamic Pile Load Tests	\$10,500.00	\$3,815.00	\$15,260.00	\$3,900.00	\$15,600.00	\$5,000.00	\$20,000.00	\$3,402.00	\$13,608.00
43	4.00E+30	6,246.00	L.F.	Furnishing 14" Diameter Steel Pipe Piles	\$205,118.64	\$36.00	\$224,856.00	\$45.00	\$281,070.00	\$25.00	\$156,150.00	\$39.06	\$243,968.76
44	4.00E+31	5,784.00	L.F.	Driving 14" Diameter Steel Pipe Piles	\$109,606.80	\$18.25	\$105,558.00	\$16.50	\$95,436.00	\$10.00	\$57,840.00	\$14.54	\$84,099.36
45	4ZL0016	85	L.F.	54" Drilled Shaft for Sign Structures	\$66,848.25	\$794.00	\$67,490.00	\$850.00	\$72,250.00	\$775.00	\$65,875.00	\$786.45	\$66,848.25
46	4F01CSS	1	L.S.	Overhead Cantilever Sign Support Structure No. 1	\$43,050.00	\$46,650.00	\$46,650.00	\$45,000.00	\$45,000.00	\$41,000.00	\$41,000.00	\$43,050.00	\$43,050.00
47	4F02CSS	1	L.S.	Overhead Cantilever Sign Support Structure No. 2	\$43,575.00	\$47,600.00	\$47,600.00	\$46,000.00	\$46,000.00	\$45,000.00	\$45,000.00	\$45,575.00	\$45,575.00
48	4F01OBS	1	L.S.	Overhead Butterfly Sign Support Structure No. 1	\$45,675.00	\$46,600.00	\$46,600.00	\$48,000.00	\$48,000.00	\$45,000.00	\$45,000.00	\$45,675.00	\$45,675.00
49	N4J0001	5,763.00	S.F.	Substructure Membrane Waterproofing	\$63,565.89	\$10.00	\$57,630.00	\$10.00	\$57,630.00	\$8.00	\$46,104.00	\$11.29	\$65,064.27
50	4001TSP	840	S.F.	Temporary Sheeting	\$43,327.20	\$104.00	\$87,360.00	\$70.00	\$58,800.00	\$0.01	\$8.40	\$60.32	\$50,668.80
51	4002TSP	3,030.00	S.F.	Temporary Sheeting to Remain in Place	\$213,857.40	\$67.00	\$203,010.00	\$78.00	\$236,340.00	\$25.00	\$75,750.00	\$65.02	\$197,010.60
52	4ZF0019	1,840.00	S.F.	Retaining Wall No. 501-1	\$242,567.20	\$493.50	\$908,040.00	\$135.00	\$248,400.00	\$160.00	\$294,400.00	\$121.68	\$223,891.20
53	4ZF0020	6,570.00	S.F.	Retaining Wall No. 501-2	\$1,032,738.30	\$427.50	\$2,808,675.00	\$155.00	\$1,018,350.00	\$160.00	\$1,051,200.00	\$124.76	\$819,673.20
54	4ZF0021	210	S.F.	Retaining Wall No. 501-3	\$40,590.90	\$638.00	\$133,980.00	\$200.00	\$42,000.00	\$160.00	\$33,600.00	\$248.61	\$52,208.10
55	4ZF0022	5,960.00	S.F.	Retaining Wall No. 501-4	\$693,922.80	\$360.50	\$2,148,580.00	\$115.00	\$685,400.00	\$160.00	\$953,600.00	\$107.12	\$638,435.20
56	4ZF0023	1,665.00	S.F.	Retaining Wall No. 501-5	\$409,007.25	\$533.50	\$888,277.50	\$255.00	\$424,575.00	\$160.00	\$266,400.00	\$188.34	\$313,586.10
57	5A08PUD	17,786.00	L.F.	8" Pipe Underdrain	\$334,732.52	\$32.00	\$569,152.00	\$32.00	\$569,152.00	\$30.00	\$533,580.00	\$27.17	\$483,245.62
58	5A12PBD	1,378.00	L.F.	12" Bleeder Drain	\$25,479.22	\$12.80	\$17,638.40	\$19.00	\$26,182.00	\$20.00	\$27,560.00	\$17.61	\$24,266.58
59	5A00004	429	L.F.	8" Outlet Pipe 15" Reinforced Concrete	\$8,374.08	\$49.30	\$21,149.70	\$33.00	\$14,157.00	\$30.00	\$12,870.00	\$78.55	\$33,697.95
60	5B15RC3	4,818.00	L.F.	Pipe	\$191,756.40	\$51.30	\$247,163.40	\$40.00	\$192,720.00	\$45.00	\$216,810.00	\$60.00	\$289,080.00
61	5B18RC3	2,469.00	L.F.	18" Reinforced Concrete Pipe	\$117,005.91	\$55.70	\$137,523.30	\$52.00	\$128,388.00	\$50.00	\$123,450.00	\$61.42	\$151,645.98
62	5B24RC3	3,783.00	L.F.	24" Reinforced Concrete Pipe	\$217,333.35	\$65.30	\$247,029.90	\$67.00	\$253,461.00	\$55.00	\$208,065.00	\$78.12	\$295,527.96
63	5B30RC3	1,767.00	L.F.	30 " Reinforced Concrete Pipe, Class III	\$141,041.94	\$81.70	\$144,363.90	\$74.00	\$130,758.00	\$65.00	\$114,855.00	\$91.63	\$161,910.21
64	5B36RC3	316	L.F.	36" Reinforced Concrete Pipe, Class III	\$38,175.96	\$107.00	\$33,812.00	\$104.00	\$32,864.00	\$75.00	\$23,700.00	\$130.30	\$41,174.80
65	5B24RCE	2	Each	24" Reinforced Concrete Flared End Sections	\$3,849.06	\$1,687.00	\$3,374.00	\$3,500.00	\$7,000.00	\$1,500.00	\$3,000.00	\$2,298.66	\$4,597.32
66	5C56CDS	1,500.00	L.F.	Clean Existing Drainage System	\$7,005.00	\$8.00	\$12,000.00	\$10.00	\$15,000.00	\$5.00	\$7,500.00	\$5.72	\$8,580.00

	ITEMS			tion Group, Inc	RE Pierson Const	ruction Co. Inc.	Tarheel Ent	ernrises Inc	Agate Constru	uction Co., Inc.	Crisdel Gr	oup Inc	
67	5C01ND1			Inlet Type D1	\$27,485.85	\$2,600.00	\$39,000.00	\$2,700.00	\$40,500.00	\$3,000.00	\$45,000.00	\$2,382.46	\$35,736.90
68	5C01ND1	63	Each	Inlet, Type D1	\$154,505.61	\$3,300.00	\$207,900.00	\$3,600.00	\$226.800.00	\$4,300.00	\$270.900.00	\$3.893.94	\$245.318.22
69	5C20NP1	14	Each	Manhole, Type P-1	\$38,611.58	\$3,600.00	\$50,400.00	\$3,400.00	\$47,600.00	\$3,900.00	\$54,600.00	\$5,894.22	\$82,519.08
70	5C20NP1	6	Each	Manhole, Type P-2	\$20,410.14	\$4,700.00	\$28,200.00	\$5,800.00	\$34,800.00	\$5,100.00	\$30,600.00	\$7,629.22	\$45,775.32
71	5C00017	6	Each	Manhole, Type MHX	\$23.071.74	\$4,600.00	\$27,600.00	\$5,800.00	\$34.800.00	\$3.900.00	\$23,400.00	\$7,509.05	\$45,054.30
72	5C00017 5C00018	3	Each	Inlet, Type D2-1	\$11,252.85	\$4,700.00	\$14,100.00	\$4,800.00	\$14,400.00	\$3,600.00	\$10,800.00	\$6,560.78	\$19,682.34
73	5C00018	1	Each	Inlet, Type DBL D2-1	\$6,199.07	\$5,650.00	\$5,650.00	\$7,500.00	\$7,500.00	\$10,800.00	\$10,800.00	\$11,688.17	\$11,688.17
74	5C00019	5	Each	Inlet, Type D2S	\$15,006.65	\$4.650.00	\$23,250.00	\$5,800.00	\$29,000.00	\$5,200.00	\$26,000.00	\$5,763.17	\$28.815.85
75	5C00020 5C00021	1	Each	Inlet, Type D2-1S	\$3,767.93	\$5,750.00	\$5,750.00	\$7,600.00	\$7,600.00	\$5,800.00	\$5,800.00	\$8,289,70	\$8,289.70
76	5D10INC	2	C.Y.	Incidental Concrete	\$1,468.44	\$1,350.00	\$2,700.00	\$700.00	\$1,400.00	\$5,000.00	\$10,000.00	\$2,583.19	\$5,166.38
77	5I01SNP	621	S.F.	Sign Panels	\$13,041.00	\$25.50	\$15,835.50	\$22.00	\$13,662.00	\$16.00	\$9,936.00	\$21.00	\$13,041.00
78	5105SPP	141	L.F.	U-channel Post	\$1,480.50	\$27.00	\$3,807.00	\$11.00	\$1,551.00	\$10.00	\$1,410.00	\$10.50	\$1,480.50
79	5J52BGR	4,753.00	L.F.	Beam Guide Rail	\$59,887.80	\$13.80	\$65,591.40	\$13.25	\$62,977.25	\$12.00	\$57,036.00	\$12.60	\$59,887.80
	3032BGR	4,700.00		Beam Guide Rail, Dual-	φου,σον.σο	Ψ10.00	ψου,σο1.40	ψ10.20	ψ0Σ,011.20	Ψ12.00	ψον,000.00	ψ12.00	ψου,ουτ.ου
80	5J52BGD	10,574.00	L.F.	Faced	\$161,042.02	\$19.40	\$205,135.60	\$16.00	\$169,184.00	\$14.00	\$148,036.00	\$15.23	\$161,042.02
81	5J52DFB	38	L.F.	Beam Guide Rail, Dual- Faced, Bridge	\$6,982.50	\$108.00	\$4,104.00	\$200.00	\$7,600.00	\$175.00	\$6,650.00	\$183.75	\$6,982.50
				Beam Guide Rail									
82	5J52ABG	6	Each	Anchorage	\$3,307.50	\$493.00	\$2,958.00	\$580.00	\$3,480.00	\$500.00	\$3,000.00	\$551.25	\$3,307.50
83	5J01PCA	3	Each	Parapet Connection, Type A	\$6,142.50	\$1,600.00	\$4,800.00	\$2,150.00	\$6,450.00	\$2,000.00	\$6,000.00	\$2,047.50	\$6,142.50
84	5J01PCB	3	Each	Parapet Connection, Type	\$1,653.75	\$213.00	\$639.00	\$580.00	\$1,740.00	\$500.00	\$1,500.00	\$551.25	\$1,653.75
85	5J00FGT	2	Each	Flared Guide Rail Terminal	\$3,570.00	\$1,980.00	\$3,960.00	\$1,900.00	\$3,800.00	\$1,700.00	\$3,400.00	\$1,785.00	\$3,570.00
86	5J54BGP	28	Each	Beam Guide Rail Post	\$1,470.00	\$42.50	\$1,190.00	\$56.00	\$1,568.00	\$50.00	\$1,400.00	\$52.50	\$1,470.00
87	5J01RBG	827	L.F.	Removal of Beam Guide	\$438.31	\$2.10	\$1,736.70	\$0.60	\$496.20	\$1.00	\$827.00	\$0.52	\$430.04
- 01	30011100	OZ.		rail Chain Link Fence, Type II,	ψ-100.01	Ψ2.10	ψ1,700.70	ψ0.00	ψ-100.20	ψ1.00	Ψ027.00	ψ0.02	ψ100.01
88	5K00001	11,524.00	L.F.	84" High	\$198,443.28	\$22.50	\$259,290.00	\$18.50	\$213,194.00	\$17.00	\$195,908.00	\$21.00	\$242,004.00
89	5K00005	1	Each	Chain Link Fence Gate	\$4,882.50	\$1,390.00	\$1,390.00	\$5,150.00	\$5,150.00	\$4,700.00	\$4,700.00	\$3,675.00	\$3,675.00
90	5L01MON	42	Each	Concrete Monuments	\$16,475.76	\$605.00	\$25,410.00	\$650.00	\$27,300.00	\$300.00	\$12,600.00	\$538.55	\$22,619.10
91	5O10GBSW	22	Each	Delineator, Type GBS-W	\$693.00	\$32.00	\$704.00	\$33.00	\$726.00	\$20.00	\$440.00	\$31.50	\$693.00
92	5P06PTW	1,400.00	L.F.	Pavement Striping, White	\$1,470.00	\$22.00	\$30.800.00	\$0.80	\$1.120.00	\$0.70	\$980.00	\$1.12	\$1.568.00
93	5V01PIT	1,400.00	Each	6" Wide Test Pits	\$6,556.40	\$80.00	\$800.00	\$700.00	\$7,000.00	\$1,000.00	\$10,000.00	\$1,096.97	\$10,969.70
- 33	SVOIFII	10	Lacii	Impact Attenuator, Type Z-	ψ0,550.40	ψ00.00	ψουο.υυ	Ψ700.00	ψ1,000.00	ψ1,000.00	ψ10,000.00	ψ1,030.37	ψ10,303.70
94	5XIA001	2	Each	Turn	\$10,500.00	\$3,980.00	\$7,960.00	\$5,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$3,937.50	\$7,875.00
95	5Y01MMG	20	Each	Mile Marker, Type MG	\$1,575.00	\$79.00	\$1,580.00	\$25.00	\$500.00	\$75.00	\$1,500.00	\$78.75	\$1,575.00
96	5ZG01PJ	234	L.F.	24" Reinforced Concrete Pipe Class V, Pipe jacking	\$236,775.24	\$1,525.00	\$356,850.00	\$825.00	\$193,050.00	\$1,200.00	\$280,800.00	\$967.54	\$226,404.36
97	5ZJ01STU	9	Each	Stormwater Treatment Units	\$324,898.20	\$32,400.00	\$291,600.00	\$33,000.00	\$297,000.00	\$40,000.00	\$360,000.00	\$41,718.25	\$375,464.25
		v		4-Way Power/Comm Duct					·	·	·		
98	6J00029	2,580.00	L.F.	Bank, Soft Encased 4-Way Power/Comm Duct	\$67,725.00	\$26.60	\$68,628.00	\$28.00	\$72,240.00	\$25.00	\$64,500.00	\$26.25	\$67,725.00
99	6J00030	3,180.00	L.F.	Bank, Concrete Encased	\$121,889.40	\$38.60	\$122,748.00	\$41.00	\$130,380.00	\$35.00	\$111,300.00	\$38.33	\$121,889.40
100	6A03RMU	140	L.F.	3" Rigid Metallic Conduit, Underground	\$4,410.00	\$31.70	\$4,438.00	\$33.00	\$4,620.00	\$30.00	\$4,200.00	\$31.50	\$4,410.00
101	6A03RMS	4,690.00	L.F.	3" Rigid Metallic Conduit, on Structures	\$130,522.70	\$28.00	\$131,320.00	\$29.50	\$138,355.00	\$25.00	\$117,250.00	\$27.83	\$130,522.70
102	6A25JPS	11	Each	Junction Box, Type PS	\$42,157.50	\$3,870.00	\$42,570.00	\$4,000.00	\$44,000.00	\$3,500.00	\$38,500.00	\$3,832.50	\$42,157.50
103	6A24JBC	30	Each	Junction Box, Type C	\$81,900.00	\$2,750.00	\$82,500.00	\$2,900.00	\$87,000.00	\$2,500.00	\$75,000.00	\$2,730.00	\$81,900.00
104	6A25JBD	11	Each	Junction Box, Type D	\$16,747.50	\$1,500.00	\$16,500.00	\$1,600.00	\$17,600.00	\$1,500.00	\$16,500.00	\$1,522.50	\$16,747.50
105	7C01TOP	16,605.00	S.Y.	Topsoil	\$44,501.40	\$2.80	\$46,494.00	\$1.60	\$26,568.00	\$1.00	\$16,605.00	\$1.47	\$24,409.35
105	7C01TOP	16,605.00	S.Y.	I opsoil	\$44,501.40	\$2.80	\$46,494.00	\$1.60	\$26,568.00	\$1.00	\$16,605.00	\$1.47	\$24,409.3

		ITE				DE D: 0		T 1 15 1				Crisdel Group, Inc.	
400		3.897.00	S.Y.	To ::	tion Group, Inc	RE Pierson Cons	\$3.117.60		erprises Inc.	3	uction Co., Inc.		
106	7D01SED	-,		Seeding, Type A	\$3,468.33	\$0.80	*-,	\$0.90	\$3,507.30	\$0.70	\$2,727.90	\$0.84	\$3,273.48
107	7D08SED	12,708.00	S.Y.	Seeding, Type L	\$5,337.36	\$0.80	\$10,166.40	\$0.60	\$7,624.80	\$0.75	\$9,531.00	\$0.58	\$7,370.64
108	7F01SSM	12,708.00	S.Y.	Soil Stablization Matting	\$24,526.44	\$2.80	\$35,582.40	\$4.00	\$50,832.00	\$2.50	\$31,770.00	\$3.68	\$46,765.44
109	N8A0004	2	Each	Portable Variable Message Sign	\$6,611.80	\$39,700.00	\$79,400.00	\$19,000.00	\$38,000.00	\$20,000.00	\$40,000.00	\$19,126.80	\$38,253.60
110	N8A0005	2	Each	Furnishing Temporary Impact Attenuator, Frangible Module Type A	\$8,977.50	\$8,200.00	\$16,400.00	\$4,600.00	\$9,200.00	\$5,000.00	\$10,000.00	\$7,659.75	\$15,319.50
111	N8A0006	2	Each	Placing and Removing Temporary Impact Attenuator, Frangible Module Type	\$4,764.92	\$4,300.00	\$8,600.00	\$3,000.00	\$6,000.00	\$7,000.00	\$14,000.00	\$1,393.18	\$2,786.36
112	N8A0012	6	Each	Furnishing Temporary Impact Attenuator, Quadquard Placing And Removing	\$95,130.00	\$26,950.00	\$161,700.00	\$21,000.00	\$126,000.00	\$1,000.00	\$6,000.00	\$24,990.00	\$149,940.00
113	N8A0013	6	Each	Temporary Impact Attenuator, Quadquard	\$17,010.00	\$3,970.00	\$23,820.00	\$6,700.00	\$40,200.00	\$500.00	\$3,000.00	\$5,681.71	\$34,090.26
114	8B01MPT	4,000.00	L.F.	Furnishing Concrete Barrier	\$58,280.00	\$40.00	\$160,000.00	\$48.00	\$192,000.00	\$35.00	\$140,000.00	\$17.46	\$69,840.00
115	8B10MPT	12,150.00	L.F.	Placing and Removing Concrete Barrier	\$146,407.50	\$14.40	\$174,960.00	\$6.00	\$72,900.00	\$10.00	\$121,500.00	\$10.76	\$130,734.00
116	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$28,507.50	\$91,800.00	\$91,800.00	\$75,000.00	\$75,000.00	\$900,000.00	\$900,000.00	\$39,822.72	\$39,822.72
117	Maintenance and		Maintenance and Protection of Traffic	\$88,383.97	\$788,000.00	\$788,000.00	\$150,000.00	\$150,000.00	\$100,000.00	\$100,000.00	\$77,825.31	\$77,825.31	
118	2M00006	1,528.00	C.Y.	Excavation, Acid Producing Soils	\$14,042.32	\$28.00	\$42,784.00	\$7.75	\$11,842.00	\$0.01	\$15.28	\$32.60	\$49,812.80
119	2M00007	4,584.00	S.Y.	Acid-Producing Soils Remediation	\$11,780.88	\$3.50	\$16,044.00	\$10.00	\$45,840.00	\$2.50	\$11,460.00	\$7.49	\$34,334.16
120	3B26TAC	250	Gallon	Tack Coat	\$1,312.50	\$2.00	\$500.00	\$4.00	\$1,000.00	\$10.00	\$2,500.00	\$4.20	\$1,050.00
121	121 5C00008 2 Each Inlet, Type Double D2			\$10,242.96	\$6,350.00	\$12,700.00	\$5,700.00	\$11,400.00	\$5,400.00	\$10,800.00	\$7,335.74	\$14,671.48	
	TOTAL OF ABOVE ITEMS			\$15,125,200.65		\$23,926,553.00		\$17,951,430.35		\$16,278,572.48		\$16,189,403.12	

		ITE	MS		J. Fletcher Crea	amer & Son, Inc.
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT
1	1D01LAY	1	L.S.	Construction Layout	\$275,000.00	\$275,000.00
2	1D10MOB	1	L.S.	Mobilization	\$875,000.00	\$875,000.00
3	1G01SCH	1	L.S.	Progress Schedule	\$40,000.00	\$40,000.00
4	2A02CAG	1	L.S.	Clearing and Grubbing	\$500,000.00	\$500,000.00
5	2B02REX	32,578.00	C.Y.	Roadway Excavation, Earth	\$18.00	\$586,404.00
6	2B15STS	15,997.00	C.Y.	Stripping Topsoil	\$32.00	\$511,904.00
7	2C01EMB	44,398.00	C.Y.	Embankment, Common	\$8.00	\$355,184.00
8	2C02EMB	44,541.00	C.Y.	Embankment, Grade A	\$25.00	\$1,113,525.00
9	2C00008	33	C.Y.	#57 Stone Backfill	\$110.00	\$3,630.00
10	2E01CAL	67	C.Y.	Coarse Aggregate Layer	\$75.00	\$5,025.00
11	2E01FEX	685	C.Y.	Foundataion Excavation	\$32.00	\$21,920.00
				Riprap Stone Aprons, 12"		
12	2G12A06	20	Ton	Thick, D50=6"	\$60.00	\$1,200.00
13	2G16A01	35	Ton	Riprap Stone Aprons, 16" Thick, D50=8"	\$60.00	\$2,100.00
				Riprap Stone Ditch Protection, 12" Thick,		
14	2G12D07	892	Ton	D50=6"	\$50.00	\$44,600.00
15	2H00006	3,770.00	L.F.	Heavy Duty Silt Fence, Orange	\$8.00	\$30,160.00
16	2H00007	1,700.00	L.F.	Heavy Duty Silt Fence,	\$8.00	\$13,600.00
17	2H35TEC	90	L.F.	Black Floating Turbidity Barriers	\$38.00	\$3,420.00
18	2H40TEC	90	Each	Inlet Filters	\$135.00	\$12,150.00
19	2H45TEC	470	Ton	Construction Driveway	\$40.00	\$18.800.00
	21143120			Demolition of Existing	ψ.ο.οο	ψ.ο,σσσ.σσ
20	2J01DES	1	L.S.	Structures	\$30,000.00	\$30,000.00
21	2L02SSC	12,116.00	L.F.	Sawcutting	\$3.00	\$36,348.00
22	3A05ABC	265	S.Y.	Aggregate Base Course, 5" Thick	\$10.00	\$2,650.00
23	3A07ABC	82,146.00	S.Y.	Aggregate Base Course, 6.5" Thick	\$6.50	\$533,949.00
		,		Superpave Hot Mix Asphalt		
24	00010110	42 CEC 00	Ton	19H 76 Intermediate	\$65.00	¢007 €40 00
24	3B24SUP	13,656.00	1011	Course Superpave Hot Mix Asphalt	\$05.00	\$887,640.00
25	3B25SUP	11,335.00	Ton	12.5H 76 Surface Course	\$68.00	\$770,780.00
26	3B21SUP	38,669.00	Ton	Superpave Hot Mix Asphalt	\$58.00	\$2,242,802.00
	052.00.			25H 64 Base Course Asphalt Price Adjustment	*******	* -, - : -, - : - : - : - : - : - : - : -
				(This is a NO-BID, Lump		
				Sum item for this contract.		
				The Lump Sum price is \$65,000. Enter a Unit Price		
				of \$65,000 as your bid for		
27	3B65APA	1	L.S.	this item.)	\$65,000.00	\$65,000.00
28	3C01BRS	5,289.00	S.Y.	Berm Surfacing, 3 Inches Thick	\$15.50	\$81,979.50
		4 400	0.1/	Berm Surfacing, Crushed	045	04400 7-7-7
29	3C02BRS	1,436.00	S.Y.	Stone, 6" Thick	\$10.00	\$14,360.00
30	3F01MRS	22,800.00	L.F.	Milled Rumble Strip	\$0.75	\$17,100.00
31	4A00005	39	C.Y.	Concrete In Culvert	\$1,800.00	\$70,200.00

33			ITE	MS		I. Eletcher Crea	mor & Son Inc
32			112	IVIO	Precast Reinforced	J. I lettilei Ciea	mer & Son, mc.
33 4A04STC 77 C.Y. Above Footings \$625.00 \$48,125.00 34 4A04STC 196 C.Y. Concrete In Footings \$330.00 \$64,680.00 35 4A10RFS 38,623.00 Pound Reinforcement Steel \$11.35 \$52,141.05 36 4A10RFS 38,623.00 Pound Reinforcement Steel \$15.00 \$16,500.00 37 4A11RFS 8,462.00 Pound Reinforcement Steel \$15.00 \$16,500.00 38 4A15DGR 179 Each Dill and Grout Reinforcement Bars \$40.00 \$7,160.00 39 4A55CPS 19,534.00 S.F. SealerTreatment \$1.00 \$19,534.00 40 4R05SC1 27 S.F. Repair Spalled Concrete \$250.00 \$6,750.00 41 4E01EDP 1 L.S. Furnishing Equipment for Driving Piles \$60,000.00 \$60,000.00 42 4E01PLT 4 Each Dynamic Pile Load Tests \$2,150.00 \$8,600.00 43 4.00E+30 6.246.00 L.F. Furnishing 14" Diameter \$160.00 \$2,544.00 44 4.00E+31 5,784.00 L.F. Driving 14" Diameter \$160.00 \$2,544.00 45 4ZL0016 85 L.F. Shifled Shaft for Sign \$160.00 \$44,000.00 46 4F01CSS 1 L.S. Support Structures \$800.00 \$44,000.00 47 4F02CSS 1 L.S. Support Structures Sign \$16,00 \$44,000.00 48 4F01DBS 1 L.S. Support Structure No. 1 \$44,000.00 \$44,000.00 49 N4J,0001 5,763.00 S.F. Retaining Wall No. 501-1 \$180.00 \$331,200.00 50 4001TSP 3,030.00 S.F. Retaining Wall No. 501-1 \$180.00 \$331,200.00 51 4002TSP 3,030.00 S.F. Retaining Wall No. 501-1 \$180.00 \$331,200.00 55 4ZF0022 5,960.00 S.F. Retaining Wall No. 501-1 \$180.00 \$344,000.00 56 4ZF0023 1,665.00 S.F. Retaining Wall No. 501-1 \$180.00 \$311,826.00 59 5400004 429 L.F. 12" Bleeder Drain \$17.00 \$23,428.00 59 5400004 429 L.F. 12" Bleeder Drain \$17.00 \$32,020.00 50 5808CCS 3,783.00 L.F. 12" Bleeder Drain \$17.00 \$32,020.00 50 5808CCS 3,783.00 L.F. 12" Bleeder Drain \$17.00 \$32,020.00 50 5808CCS 3,783.00 L.F. 12" Bleeder	32	4A00006	105	L.F.	Concrete 3-Sided Box Culvert	\$1,900.00	\$199,500.00
34	33	4A01STC	77	C.Y.		\$625.00	\$48,125.00
36	34	4A04STC	196	C.Y.		\$330.00	\$64,680.00
36	35	4A10RFS	38,623.00	Pound	Reinforcement Steel	\$1.35	\$52,141.05
37	36		11	C.Y.	Concrete In Bridge Parapet	\$1,500.00	\$16,500.00
38	37	4A11RFS	8,462.00	Pound	Epoxy Coated	\$1.50	\$12,693.00
39	38	4A15DGR	179	Each	Reinforcement Bars	\$40.00	\$7,160.00
40	39	4A55CPS	19.534.00	S.F.		\$1.00	\$19.534.00
41			·		Repair Spalled Concrete,		\$6,750.00
42 4E01PLT 4 Each Dynamic Pile Load Tests \$2,150.00 \$8,600.00 43 4.00E+30 6,246.00 L.F. Furnishing 14" Diameter \$90.00 \$562,140.00 44 4.00E+31 5,784.00 L.F. Driving 14" Diameter Steel Piles \$90.00 \$68,000.00 45 4ZL0016 85 L.F. Structures \$800.00 \$68,000.00 46 4F01CSS 1 L.S. Support Structure No. 1 \$44,000.00 \$44,000.00 47 4F02CSS 1 L.S. Support Structure No. 1 \$44,000.00 \$45,000.00 48 4F01OBS 1 L.S. Support Structure No. 2 \$45,000.00 \$45,000.00 49 N4.0001 5,763.00 S.F. Waterproofing \$16.00 \$92,248.00 50 4001TSP 840 S.F. Temporary Sheeting to \$65.00 \$54,600.00 51 4002TSP 3,030.00 S.F. Retaining Wall No. 501-1 \$180.00 \$331,200.00 52 4ZF0021 5,960.00 S.F. Retaining Wall No. 501-2 \$180.00 \$1,182,600.00 54 4ZF0022 5,960.00 S.F. Retaining Wall No. 501-3 \$300.00 \$63,000.00 56 4ZF0023 1,665.00 S.F. Retaining Wall No. 501-5 \$325.00 \$54,1125.00 57 5A08PUD 17,786.00 L.F. 8" Pipe Underdrain \$28.00 \$488,00 \$173,448.00 58 5B15RC3 4,818.00 L.F. 12" Bleeder Drain \$17.00 \$23,426.00 59 5B24RCE 2 Each Field For San	//1	4E01EDD	1	1.5	Furnishing Equipment for	960,000,00	\$60,000,00
43			-			* ,	
43	42	4E01PL1	4	Eacii		\$2,150.00	\$6,000.00
44	43	4.00E+30	6,246.00	L.F.	Steel Pipe Piles	\$90.00	\$562,140.00
45	44	4.00E+31	5,784.00	L.F.	Pipe Piles	\$16.00	\$92,544.00
46	45	4ZL0016	85	L.F.	Structures	\$800.00	\$68,000.00
47	46	4F01CSS	1	L.S.	Support Structure No. 1	\$44,000.00	\$44,000.00
48	47	4F02CSS	1	L.S.		\$45,000.00	\$45,000.00
49 N4J0001 5,763.00 S.F. Waterproofing \$16.00 \$92,208.00 50 4O01TSP 840 S.F. Temporary Sheeting \$65.00 \$54,600.00 51 4O02TSP 3,030.00 S.F. Remain in Place \$48.00 \$145,440.00 52 4ZF0019 1,840.00 S.F. Retaining Wall No. 501-1 \$180.00 \$331,200.00 53 4ZF0020 6,570.00 S.F. Retaining Wall No. 501-2 \$180.00 \$1,182,600.00 54 4ZF0021 210 S.F. Retaining Wall No. 501-3 \$300.00 \$63,000.00 55 4ZF0022 5,960.00 S.F. Retaining Wall No. 501-4 \$150.00 \$894,000.00 56 4ZF0023 1,665.00 S.F. Retaining Wall No. 501-5 \$325.00 \$541,125.00 57 5A08PUD 17,786.00 L.F. 8"Pipe Underdrain \$28.00 \$498,008.00 58 5A12PBD 1,378.00 L.F. 12" Bleeder Drain \$17.00 \$23,426.00 <td< td=""><td>48</td><td>4F01OBS</td><td>1</td><td>L.S.</td><td>Support Structure No. 1</td><td>\$44,000.00</td><td>\$44,000.00</td></td<>	48	4F01OBS	1	L.S.	Support Structure No. 1	\$44,000.00	\$44,000.00
Section Sect	49	N4J0001	5.763.00	S.F.		\$16.00	\$92.208.00
51 4002TSP 3,030.00 S.F. Remain in Place \$48.00 \$145,440.00 52 4ZF0019 1,840.00 S.F. Retaining Wall No. 501-1 \$180.00 \$331,200.00 53 4ZF0020 6,570.00 S.F. Retaining Wall No. 501-2 \$180.00 \$1,182,600.00 54 4ZF0021 210 S.F. Retaining Wall No. 501-3 \$300.00 \$63,000.00 55 4ZF0022 5,960.00 S.F. Retaining Wall No. 501-4 \$150.00 \$894,000.00 56 4ZF0023 1,665.00 S.F. Retaining Wall No. 501-5 \$325.00 \$541,125.00 57 5A08PUD 17,786.00 L.F. 8" Pipe Underdrain \$28.00 \$498,008.00 58 5A12PBD 1,378.00 L.F. 12" Bleeder Drain \$17.00 \$23,426.00 59 5A00004 429 L.F. 8" Outlet Pipe \$36.00 \$15,444.00 60 5B15RC3 4,818.00 L.F. Pipe \$36.00 \$173,448.00 61	50	_	840	S.F.		\$65.00	\$54,600.00
53 4ZF0020 6,570.00 S.F. Retaining Wall No. 501-2 \$180.00 \$1,182,600.00 54 4ZF0021 210 S.F. Retaining Wall No. 501-3 \$300.00 \$63,000.00 55 4ZF0022 5,960.00 S.F. Retaining Wall No. 501-4 \$150.00 \$894,000.00 56 4ZF0023 1,665.00 S.F. Retaining Wall No. 501-5 \$325.00 \$541,125.00 57 5A08PUD 17,786.00 L.F. 8" Pipe Underdrain \$28.00 \$498,008.00 58 5A12PBD 1,378.00 L.F. 12" Bleeder Drain \$17.00 \$23,426.00 59 5A00004 429 L.F. 8" Outlet Pipe \$36.00 \$15,444.00 60 5B15RC3 4,818.00 L.F. Pipe \$36.00 \$173,448.00 61 5B18RC3 2,469.00 L.F. Pipe \$42.00 \$103,698.00 62 5B24RC3 3,783.00 L.F. Pipe \$54.00 \$204,282.00 63 5B30RC3 <	51	4002TSP	3,030.00	S.F.		\$48.00	\$145,440.00
54 4ZF0021 210 S.F. Retaining Wall No. 501-3 \$300.00 \$63,000.00 55 4ZF0022 5,960.00 S.F. Retaining Wall No. 501-4 \$150.00 \$894,000.00 56 4ZF0023 1,665.00 S.F. Retaining Wall No. 501-5 \$325.00 \$541,125.00 57 5A08PUD 17,786.00 L.F. 8" Pipe Underdrain \$28.00 \$498,008.00 58 5A12PBD 1,378.00 L.F. 12" Bleeder Drain \$17.00 \$23,426.00 59 5A00004 429 L.F. 8" Outlet Pipe \$36.00 \$15,444.00 60 5B15RC3 4,818.00 L.F. Pipe \$36.00 \$173,448.00 61 5B18RC3 2,469.00 L.F. Pipe \$36.00 \$103,698.00 62 5B24RC3 3,783.00 L.F. Pipe \$54.00 \$204,282.00 63 5B30RC3 1,767.00 L.F. Pipe, Class III \$92.00 \$29,072.00 64 5B36RC3 316	52	4ZF0019	1,840.00	S.F.	Retaining Wall No. 501-1	\$180.00	\$331,200.00
55 4ZF0022 5,960.00 S.F. Retaining Wall No. 501-4 \$150.00 \$894,000.00 56 4ZF0023 1,665.00 S.F. Retaining Wall No. 501-5 \$325.00 \$541,125.00 57 5A08PUD 17,786.00 L.F. 8" Pipe Underdrain \$28.00 \$498,008.00 58 5A12PBD 1,378.00 L.F. 12" Bleeder Drain \$17.00 \$23,426.00 59 5A00004 429 L.F. 8" Outlet Pipe \$36.00 \$15,444.00 60 5B15RC3 4,818.00 L.F. Pipe \$36.00 \$173,448.00 61 5B18RC3 2,469.00 L.F. Pipe \$36.00 \$103,698.00 62 5B24RC3 3,783.00 L.F. Pipe \$42.00 \$103,698.00 63 5B30RC3 1,767.00 L.F. Pipe \$54.00 \$204,282.00 64 5B36RC3 316 L.F. Pipe, Class III \$92.00 \$29,072.00 65 5B24RCE 2 Each	53	4ZF0020	6,570.00	S.F.	Retaining Wall No. 501-2	\$180.00	\$1,182,600.00
56 4ZF0023 1,665.00 S.F. Retaining Wall No. 501-5 \$325.00 \$541,125.00 57 5A08PUD 17,786.00 L.F. 8" Pipe Underdrain \$28.00 \$498,008.00 58 5A12PBD 1,378.00 L.F. 12" Bleeder Drain \$17.00 \$23,426.00 59 5A00004 429 L.F. 8" Outlet Pipe \$36.00 \$15,444.00 60 5B15RC3 4,818.00 L.F. Pipe \$36.00 \$173,448.00 61 5B18RC3 2,469.00 L.F. Pipe \$42.00 \$103,698.00 62 5B24RC3 3,783.00 L.F. Pipe \$54.00 \$204,282.00 63 5B30RC3 1,767.00 L.F. Pipe \$54.00 \$204,282.00 64 5B36RC3 316 L.F. Pipe, Class III \$92.00 \$29,072.00 65 5B24RCE 2 Each Flared End Sections \$1,600.00 \$3,200.00	54	4ZF0021	210	S.F.	Retaining Wall No. 501-3	\$300.00	\$63,000.00
57 5A08PUD 17,786.00 L.F. 8" Pipe Underdrain \$28.00 \$498,008.00 58 5A12PBD 1,378.00 L.F. 12" Bleeder Drain \$17.00 \$23,426.00 59 5A00004 429 L.F. 8" Outlet Pipe \$36.00 \$15,444.00 60 5B15RC3 4,818.00 L.F. Pipe \$36.00 \$173,448.00 61 5B18RC3 2,469.00 L.F. Pipe \$42.00 \$103,698.00 62 5B24RC3 3,783.00 L.F. Pipe \$54.00 \$204,282.00 63 5B30RC3 1,767.00 L.F. Pipe \$54.00 \$204,282.00 64 5B36RC3 316 L.F. Pipe, Class III \$92.00 \$29,072.00 65 5B24RCE 2 Each Flared End Sections \$1,600.00 \$3,200.00	55	4ZF0022	5,960.00	S.F.	Retaining Wall No. 501-4	\$150.00	\$894,000.00
58 5A12PBD 1,378.00 L.F. 12" Bleeder Drain \$17.00 \$23,426.00 59 5A00004 429 L.F. 8" Outlet Pipe \$36.00 \$15,444.00 60 5B15RC3 4,818.00 L.F. Pipe \$36.00 \$173,448.00 61 5B18RC3 2,469.00 L.F. Pipe \$42.00 \$103,698.00 62 5B24RC3 3,783.00 L.F. Pipe \$54.00 \$204,282.00 63 5B30RC3 1,767.00 L.F. Pipe, Class III \$64.00 \$113,088.00 64 5B36RC3 316 L.F. Pipe, Class III \$92.00 \$29,072.00 65 5B24RCE 2 Each Flared End Sections \$1,600.00 \$3,200.00	56	4ZF0023	1,665.00	S.F.	Retaining Wall No. 501-5	\$325.00	\$541,125.00
59 5A00004 429 L.F. 8" Outlet Pipe \$36.00 \$15,444.00 60 5B15RC3 4,818.00 L.F. Pipe \$36.00 \$173,448.00 61 5B18RC3 2,469.00 L.F. Pipe \$42.00 \$103,698.00 62 5B24RC3 3,783.00 L.F. Pipe \$54.00 \$204,282.00 63 5B30RC3 1,767.00 L.F. Pipe, Class III \$64.00 \$113,088.00 64 5B36RC3 316 L.F. Pipe, Class III \$92.00 \$29,072.00 65 5B24RCE 2 Each Flared End Sections \$1,600.00 \$3,200.00 60 5B24RCE 2 Each Flared End Sections \$1,600.00 \$3,200.00	57	5A08PUD	17,786.00	L.F.	8" Pipe Underdrain	\$28.00	\$498,008.00
60 5B15RC3 4,818.00 L.F. Pipe \$36.00 \$173,448.00 61 5B18RC3 2,469.00 L.F. Pipe \$42.00 \$103,698.00 62 5B24RC3 3,783.00 L.F. Pipe \$54.00 \$204,282.00 63 5B30RC3 1,767.00 L.F. Pipe Class III \$64.00 \$113,088.00 64 5B36RC3 316 L.F. Pipe, Class III \$92.00 \$29,072.00 65 5B24RCE 2 Each Flared End Sections \$1,600.00 \$3,200.00	58	5A12PBD	1,378.00	L.F.	12" Bleeder Drain	\$17.00	\$23,426.00
60 5B15RC3 4,818.00 L.F. Pipe \$36.00 \$173,448.00 61 5B18RC3 2,469.00 L.F. Pipe \$42.00 \$103,698.00 62 5B24RC3 3,783.00 L.F. Pipe \$54.00 \$204,282.00 63 5B30RC3 1,767.00 L.F. Pipe, Class III \$64.00 \$113,088.00 64 5B36RC3 316 L.F. Pipe, Class III \$92.00 \$29,072.00 65 5B24RCE 2 Each Flared End Sections \$1,600.00 \$3,200.00	59	5A00004	429	L.F.	8" Outlet Pipe	\$36.00	\$15,444.00
61 5B18RC3 2,469.00 L.F. Pipe \$42.00 \$103,698.00 62 5B24RC3 3,783.00 L.F. Pipe \$54.00 \$204,282.00 63 5B30RC3 1,767.00 L.F. Pipe, Class III \$64.00 \$113,088.00 64 5B36RC3 316 L.F. Pipe, Class III \$92.00 \$29,072.00 65 5B24RCE 2 Each Flared End Sections \$1,600.00 \$3,200.00 60 5B24RCE 2 Each Flared End Sections \$1,600.00 \$3,200.00	60	5B15RC3	4,818.00	L.F.	Pipe	\$36.00	\$173,448.00
62 5B24RC3 3,783.00 L.F. Pipe \$54.00 \$204,282.00 63 5B30RC3 1,767.00 L.F. Pipe, Class III \$64.00 \$113,088.00 64 5B36RC3 316 L.F. Pipe, Class III \$92.00 \$29,072.00 65 5B24RCE 2 Each Flared End Sections \$1,600.00 \$3,200.00	61	5B18RC3	2,469.00	L.F.	Pipe	\$42.00	\$103,698.00
63 5B30RC3 1,767.00 L.F. Pipe, Class III \$64.00 \$113,088.00 64 5B36RC3 316 L.F. Pipe, Class III \$92.00 \$29,072.00 65 5B24RCE 2 Each Flared End Sections \$1,600.00 \$3,200.00 65 Clean Existing Drainage \$72.00 \$45,500.00	62	5B24RC3	3,783.00	L.F.	Pipe	\$54.00	\$204,282.00
36" Reinforced Concrete \$92.00 \$29,072.00	63	5B30RC3	1,767.00	L.F.		\$64.00	\$113,088.00
65 5B24RCE 2 Each Flared End Sections \$1,600.00 \$3,200.00 Clean Existing Drainage \$7.00 \$4.500.00	64	5B36RC3	316	L.F.	36" Reinforced Concrete Pipe, Class III	\$92.00	\$29,072.00
00 450000 15 0700 0700 04050000	65	5B24RCE	2	Each	24" Reinforced Concrete Flared End Sections	\$1,600.00	\$3,200.00
	66	5C56CDS	1,500.00	L.F.	0 0	\$7.00	\$10,500.00

		ITE	MS		J. Fletcher Crea	amer & Son, Inc.
67	5C01ND1	15	Each	Inlet, Type D1	\$2,000.00	\$30,000.00
68	5C01ND2	63	Each	Inlet, Type D2	\$2,600.00	\$163,800.00
69	5C20NP1	14	Each	Manhole, Type P-1	\$2,200.00	\$30,800.00
70	5C20NP2	6	Each	Manhole, Type P-2	\$3,500.00	\$21,000.00
71	5C00017	6	Each	Manhole, Type MHX	\$3,400.00	\$20,400.00
72	5C00018	3	Each	Inlet, Type D2-1	\$3,600.00	\$10,800.00
73	5C00019	1	Each	Inlet, Type DBL D2-1	\$4,500.00	\$4,500.00
74	5C00020	5	Each	Inlet, Type D2S	\$3,200.00	\$16,000.00
75	5C00021	1	Each	Inlet, Type D2-1S	\$3,200.00	\$3,200.00
76	5D10INC	2	C.Y.	Incidental Concrete	\$900.00	\$1,800.00
77	5I01SNP	621	S.F.	Sign Panels	\$24.00	\$14,904.00
78	5105SPP	141	L.F.	U-channel Post	\$25.00	\$3,525.00
79	5J52BGR	4,753.00	L.F.	Beam Guide Rail	\$13.00	\$61,789.00
	OUCEDOIN	1,100100		Beam Guide Rail, Dual-	******	401,100100
80	5J52BGD	10,574.00	L.F.	Faced	\$18.25	\$192,975.50
81	5J52DFB	38	L.F.	Beam Guide Rail, Dual-	\$102.00	\$3,876.00
01	SJSZDFB	30	L.I .	Faced, Bridge Beam Guide Rail	\$102.00	\$3,670.00
82	5J52ABG	6	Each	Anchorage	\$465.00	\$2,790.00
00		3	F	Parapet Connection, Type	#4 F00 00	#4.500.00
83	5J01PCA	3	Each	A Parapet Connection, Type	\$1,500.00	\$4,500.00
84	5J01PCB	3	Each	B	\$200.00	\$600.00
85	5J00FGT	2	Each	Flared Guide Rail Terminal	\$1,868.00	\$3,736.00
86	5J54BGP	28	Each	Beam Guide Rail Post	\$40.00	\$1,120.00
_				Removal of Beam Guide		
87	5J01RBG	827	L.F.	rail	\$2.00	\$1,654.00
88	5K00001	11,524.00	L.F.	Chain Link Fence, Type II, 84" High	\$18.00	\$207,432.00
89	5K00005	1	Each	Chain Link Fence Gate	\$5,000.00	\$5,000.00
90	5L01MON	42	Each	Concrete Monuments	\$500.00	\$21,000.00
91	5O10GBSW	22	Each	Delineator, Type GBS-W	\$30.00	\$660.00
-	00.002011			Pavement Striping, White	,	•
92	5P06PTW	1,400.00	L.F.	6" Wide	\$0.70	\$980.00
93	5V01PIT	10	Each	Test Pits	\$275.00	\$2,750.00
94	5XIA001	2	Each	Impact Attenuator, Type Z-	\$3,750.00	\$7,500.00
95	5Y01MMG	20	Each	Turn Mile Marker, Type MG	\$75.00	\$1,500.00
- 55	STOTIVING	20	Luon	24" Reinforced Concrete	ψ/ 0.00	ψ1,000.00
96	5ZG01PJ	234	L.F.	Pipe Class V, Pipe jacking	\$450.00	\$105,300.00
97	57 104 OT 1	9	Each	Stormwater Treatment	\$33,000.00	\$207,000,00
97	5ZJ01STU	9	Each	Units 4-Way Power/Comm Duct	\$33,000.00	\$297,000.00
98	6J00029	2,580.00	L.F.	Bank, Soft Encased	\$26.00	\$67,080.00
				4-Way Power/Comm Duct		
99	6J00030	3,180.00	L.F.	Bank, Concrete Encased	\$42.00	\$133,560.00
100	6A03RMU	140	L.F.	3" Rigid Metallic Conduit, Underground	\$25.00	\$3,500.00
	67 1001 11110			3" Rigid Metallic Conduit,	7=1:11	4 0,000.00
101	6A03RMS	4,690.00	L.F.	on Structures	\$28.00	\$131,320.00
102	6A25JPS	11	Each	Junction Box, Type PS	\$2,900.00	\$31,900.00
103	6A24JBC	30	Each	Junction Box, Type C	\$2,800.00	\$84,000.00
104	6A25JBD	11	Each	Junction Box, Type D	\$900.00	\$9,900.00
105	7C01TOP	16,605.00	S.Y.	Topsoil	\$1.50	\$24,907.50

		ITE	MS		J. Fletcher Crea	amer & Son, Inc.
106	7D01SED	3,897.00	S.Y.	Seeding, Type A	\$0.80	\$3,117.60
107	7D08SED	12,708.00	S.Y.	Seeding, Type L	\$0.60	\$7,624.80
108	7F01SSM	12,708.00	S.Y.	Soil Stablization Matting	\$3.50	\$44,478.00
109	N8A0004	2	Each	Portable Variable Message Sign	\$18,000.00	\$36,000.00
110	N8A0005	2	Each	Furnishing Temporary Impact Attenuator, Frangible Module Type A	\$4,000.00	\$8,000.00
111	N8A0006	2	Each	Placing and Removing Temporary Impact Attenuator, Frangible Module Type	\$1,600.00	\$3,200.00
112	N8A0012	6	Each	Furnishing Temporary Impact Attenuator, Quadquard Placing And Removing	\$32,000.00	\$192,000.00
113	N8A0013	6	Each	Temporary Impact Attenuator, Quadquard	\$1,100.00	\$6,600.00
114	8B01MPT	4,000.00	L.F.	Furnishing Concrete Barrier	\$40.00	\$160,000.00
115	8B10MPT	12,150.00	L.F.	Placing and Removing Concrete Barrier	\$16.00	\$194,400.00
116	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$45,000.00	\$45,000.00
117	8B31MPT	1	L.S.	Maintenance and Protection of Traffic	\$230,000.00	\$230,000.00
118	2M00006	1,528.00	C.Y.	Excavation, Acid Producing Soils	\$100.00	\$152,800.00
119	2M00007	4,584.00	S.Y.	Acid-Producing Soils Remediation	\$6.50	\$29,796.00
120	3B26TAC	250	Gallon	Tack Coat	\$10.00	\$2,500.00
121	5C00008	2	Each	Inlet, Type Double D2	\$3,200.00	\$6,400.00
		TOTAL OF A	BOVE ITEN	IS		\$17,847,111.95